AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)

☐ FEDERAL CANDIDATE

■ STATE/LOCAL CANDIDATE

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

Window, I	Federal Cand	lidates Mus	t Sign The C	Certification C	On Page 3	
Station and	Location:			Date:		
Bayou Radio Group - New Orleans, LA 11.4.19						
Arsement M	ledia Group					
	John Be	l Edwards				
a legally qualified candidate of the Governor political party for the office of: General in the November 16, 2019 election to be held on: do hereby request station time as follows:						
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks	
Please see schedule attached.		v				

Attach proposed schedule with charges (if available):

John Bel Edwards Campaign

and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.

The name of the treasurer of the candidate's authorized committee is:

Andrew Edwards

This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

11.4.19	it	
Date	Signature	
To Be S	igned By Station Representative	
	☐ Accepted in Part	☐ Rejected
Joe Donker	Joe Darden	GM
// Signature	Printed Name	Title

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)		
☐ FEDERAL CANDIDATE	■ STATE/LOCAL CANDIDAT	Έ

Station and	d Location:			Date:	
Bayou Radio (Group - New Orlea	ans, LA		10.3.	19
Arsement N	Media Group				
being/on bel	John Bel	Edwards			
a legally qua	lified candidate	of the	cratic		
in theelection to be		per 12, 2019			
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
Please see schedule				2.	

John Bel Edwards Campaign

and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.

The name of the treasurer of the candidate's authorized committee is:

Andrew Edwards

This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

10.3.19	Cgarsemer	it		
Date Signature				
To Be S	igned By Station Representative			
☐ Accepted	☐ Accepted in Part	□ Rejected		
Signature	Printed Name	Title		

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)

schedule attached.

☐ FEDERAL CANDIDATE

■ STATE/LOCAL CANDIDATE

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

Station and	Location:			Date:	
Bayou Radio Group - New Orleans, LA					9.23.19
Arsement N	Media Group			· ·	
	John Be	el Edwards			
		e of the	cratic		
Primar	γ				
	Octo	ober 12. 2019			
do hereby re	quest station t	ime as follows	5 :		
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
Please see					

Attach proposed schedule with charges (if available):

John Bel Edwards Campaign

and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.

The name of the treasurer of the candidate's authorized committee is:

Andrew Edwards

This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

9.23.19	Cgarseme	nt			
Date Signature					
To Be S	igned By Station Representative				
Accepted	☐ Accepted in Part	☐ Rejected			
Joe Conten	JOE DArden	GRA			
(/ Signature	Printed Name	Title			

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)

☐ FEDERAL CANDIDATE ■ STATE/LOCAL CANDIDATE

	Themselves C Federal Candi				
Station and	I Location: u Radio Group - Ne	ew Orleans, LA		Date:	.11.19
Arsement N	Media Group				
	John Bel				
Primar in the		per 12, 2019			
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
Please see schedule attached.					
Attach propo	sed schedule w	ith charges (if available):		

John Bel Edwards Campaign

and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.

The name of the treasurer of the candidate's authorized committee is:

Andrew Edwards

This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

9.11.19	Cgarsemer	t				
Date	Signature					
To Be Signed By Station Representative						
☐ Accepted	☐ Accepted in Part	□ Rejected				
Signature	Printed Name	Title				

AGREEMENT FORM FOR **POLITICAL CANDIDATE ADVERTISEMENTS**

(check applicable box)

☐ FEDERAL CANDIDATE

■ STATE/LOCAL CANDIDATE

To Avail Themselves Of The Lowest Unit Charge During A Political

Window,	Federal Cand	didates Mus	t Sign The C	ertification (On Page 3	
Station and	l Location:			Date:		
Southeastern Broadcasting - New Orleans, LA 8.26.19						
Arsement M				\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \		
	John Be	l Edwards			,	
a legally qua	lified candidate	Demo	ocratic	<u>.</u>		
Primary in the October 12, 2019 election to be held on: do hereby request station time as follows:						
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks	
Please see schedule attached.						
				:::		

Attach proposed schedule with charges (if available):

John Bel Edwards Campaign

and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.

The name of the treasurer of the candidate's authorized committee is:

Andrew Edwards

This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

8.26.19	Cgarsement					
Date	Signature					
To Be Signed By Station Representative						
☑ Accepted	☐ Accepted in Part	☐ Rejected				
Joe Darola	Jue Darden	GM				
0 Signature	Printed Name	Title				

Advertiser ID: 408

Amount Paid_

8/31/2019	1
Date	Page
	0/01/2019

DETACH AND RETURN WITH PAYMENT

408-00005-0000

O 8/31/2019

1

Arsement Media Group

For: John Bel Edwards

Purchase Order Number:

Est. Number: Co-Op:

Description: Political Race-Governor Salesperson: STATION LIST 1, JOE

Date	Day	Length							Qty	Rate	Total
8/26/2019	Mon	1:00	WGUO	02:15:00 P	M 03:28:00 PM	04:29:00 PM	05:45:30 PM		4	\$44.71	\$178.84
8/27/2019	Tue	1:00	WGUO	06:16:30 A	M 11:16:00 AM	01:16:00 PM	02:17:00 PM	05:45:30 PM	5	\$44.71	\$223.55
8/28/2019	Wed	1:00	wguo	06:47:00 A	M 12:45:30 PM	01:46:30 PM	05:28:00 PM		4	\$44.71	\$178.84
8/29/2019	Thu	1:00	wguo	06:15:30 A	M 11:16:00 AM	01:16:00 PM	04:16:00 PM		4	\$44.71	\$178.84
8/30/2019	Fri	1:00	wguo	08:30:00 A	M 12:16:00 PM	03:45:30 PM	06:15:00 PM		4	\$44.71	\$178.84
8/31/2019	Sat	1:00	wguo	01:15:00 P	M 03:29:00 PM	06:16:00 PM			3	\$35,29	\$105.87
8/31/2019				Agency Dis	count						\$-156.72
			ľ								
		il i									

 Quantity
 24 Total
 \$1044.78

 AGENCY DISCOUNT
 \$ -156.72

 Total Due
 \$888.06

Advertiser ID: 408

Amount Paid_

408-00005-0001	9/30/2019	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

408-00005-0001

O 9/30/2019

Arsement Media Group

For: John Bel Edwards

Purchase Order Number:

Est. Number: Co-Op:

Description: Political Race-Governor Salesperson: STATION LIST 1, JOE

Date	Day	Length							Qty	Rate	Total
9/1/2019			WGUO	12:15:00 PN	02:45:00 PM	05:45:00 PM			3	\$35.29	\$105.87
9/2/2019			wguo		11:15:00 AM		06:15:00 PM		4	\$44.71	\$178.84
9/3/2019			wguo		09:45:00 AM				4	\$44.71	\$178.84
9/4/2019			WGUO		09:15:00 AM				4	\$44.71	\$178.84
07 11 20 70					Code: 27-JBEEI						
9/5/2019	Thu	1:00	wguo		11:15:00 AM				4	\$44,71	\$178.84
9/6/2019		11	WGUO		10:45:00 AM				4	\$44.71	\$178.84
9/7/2019			WGUO		01:45:00 PM				3	\$35.29	\$105.87
9/8/2019			WGUO		1 02:45:00 PM				3	\$35.29	\$105.87
9/30/2019	Oun	1.00		Agency Disc		011,101001111			Ĭ		(\$181.77)
									0		
											2
*											
								Quantity		29 Total	\$1,211.81

AGENCY DISCOUNT **Total Due**

(\$181.77) \$1,030.04

Advertiser ID: 408

Amount Paid

408-00008-0000	9/30/2019	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

408-00008-0000

O 9/30/2019

1

Arsement Media Group

For: John Bel Edwards

Purchase Order Number:

Est. Number: Co-Op:

Description: week of 9.9

Salesperson: STATION LIST 1, JOE

Γ	Date	Day	Length						Qty	Rate	Total
				I	SCI Code: 27-JBEI	EECONOMICD	EVELOP				
9	9/9/2019	Mon	1:00	WGUO 07:15:30	AM 10:45:00 AN	/ 01:15:00 PM	06:15:00 PM		4	\$44,71	\$178.84
9/	10/2019	Tue	1:00	WGUO 06:45:00	AM 11:45:30 AM	1 01:45:30 PM	06:45:30 PM		4	\$44.71	\$178.84
9/	11/2019	Wed	1:00	WGUO 06:15:30	AM				1	\$44.71	\$44.71
9/	12/2019	Thu	1:00	WGUO 06:29:00 03:45:30	AM 08:28:00 AN	09:45:00 AM	11:28:00 AM	12:45:30 PM	6	\$44,71	\$268.26
9/	13/2019	Fri	1:00		AM 11:15:00 AM	1 02:45:30 PM	04:45:30 PM		4	\$44.71	\$178.84
9/	14/2019	Sat	1:00	WGUO 01:15:00	PM 05:15:00 PM	/I 06:46:00 PM			3	\$35.29	\$105.87
9/	15/2019	Sun	1:00	NGUO 01:45:00	PM 03:45:00 PM	/I 04:45:00 PM			3	\$35,29	\$105.87
				From 09/11/ 2 019							
9/	13/2019	Fri	MG 1:00	NGUO 06:28:00	PM				1	\$44.71	\$44.71
9/3	30/2019			Agency	Discount						(\$165.89)
											1
1											
									- 1		
									li.		
	- 1										
	1									-	

 Quantity
 26 Total
 \$1,105.94

 AGENCY DISCOUNT
 (\$165.89)

 Total Due
 \$940.05

Advertiser ID: 408

Amount Paid

408-00009-0000	9/30/2019	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

408-00009-0000

O 9/30/2019

1

Arsement Media Group

For: John Bel Edwards

Purchase Order Number:

Est. Number: Co-Op:

Description: Sept 16-24

Salesperson: STATION LIST 1, JOE

Date	Day	Length		Qty	Rate	Total
,			ISCI Code: JBEEconomicDevelopment			
9/16/2019	Mon	1:00	GUO 08:16:00 AM 11:15:00 AM 01:29:00 PM 04:28:0	0 PM	\$44.71	\$178.84
9/17/2019		1:00	GUO 06:29:00 AM 10:29:00 AM 03:16:00 PM 05:29:0	00 PM	\$44.71	\$178.84
9/18/2019	Wed	1:00	GUO 07:15:30 AM 09:29:00 AM 02:46:30 PM 06:16:0	00 PM	\$44.71	\$178.84
9/19/2019		1:00		80 PM	\$44.71	\$178.84
9/20/2019	Fri	1:00	GUO 08:16:00 AM 11:28:00 AM 03:45:30 PM 05:46:30	0 PM	\$44.71	\$178.84
9/21/2019	Sat	1:00			\$35.29	\$105.87
9/22/2019	Sun	1:00			3 \$35.29	\$105.87
		1	ISCI Code: JBETHOUSANDSHARDERRIGH	T		
9/23/2019	Mon	1:00	GUO 06:15:30 AM 10:46:00 AM 03:28:00 PM 06:45:3	0 PM	4 \$44,71	\$178.84
9/24/2019	Tue	1:00	GUO 08:29:00 AM 12:28:00 PM 02:28:00 PM 04:29:0	00 PM	4 \$44.71	\$178.84
9/30/2019			Agency Discount			(\$219.54
ai.	4					
				Quantity	34 Total	\$1,463.

 Quantity
 34 Total
 \$1,463.62

 AGENCY DISCOUNT
 (\$219.54)

 Total Due
 \$1,244.08

Advertiser ID: 408

Amount Paid

408-00012-0000	9/30/2019	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

408-00012-0000

O 9/30/2019

1

Arsement Media Group

For: John Bel Edwards

Purchase Order Number: 53

Est. Number: Co-Op:

Description: Sept 28-Oct 6

Salesperson: STATION LIST 1, JOE

Date	Day	Length		Qty	Rate	Total
			ISCI Code: 53-JBE 9.25-10.6 RADIO			
9/25/2019	Wed	1:00	VGUO 11:28:00 AM 01:28:00 PM 03:46:00 PM 06:29:00 PM	4	\$44.71	\$178.84
9/26/2019	Thu	92	VGUO 10:28:00 AM 12:15:00 PM 02:15:00 PM 04:28:00 PM	4	\$44,71	\$178.84
9/27/2019	Fri	1:00	VGUO 11:15:00 AM 02:46:00 PM 03:17:00 PM 05:28:00 PM	4	\$44.71	\$178.84
9/28/2019	Sat	1:00	VGUO 01:45:00 PM 04:15:00 PM 06:28:00 PM	3	\$35.29	\$105.87
9/29/2019	Sun	1:00	VGUO 11:28:00 AM 03:45:00 PM 05:15:00 PM	3	\$35,29	\$105.87
			ISCI Code: JBEBIPARTISANEVERYCHILD			
9/30/2019	Mon	1:00	VGUO 08:45:00 AM 10:28:00 AM 12:45:00 PM 04:28:00 PM	4	\$44.71	\$178.84
9/30/2019			Agency Discount			(\$139.07)
				- 1		
1	1					

Quantity 22 Total

\$927.10 (\$139.07)

AGENCY DISCOUNT
Total Due

\$788.03

Arsement Media Group

John Bel Edwards

Advertiser ID: 408

Amount Paid

10/31/2019	1
Date	Page

DETACH AND RETURN WITH PAYMENT

408-00012-0001

O 10/31/2019

For: John Bel Edwards Purchase Order Number: 53

Est. Number: Co-Op:

Description: Sept 28-Oct 6

Salesperson: STATION LIST 1, JOE

Date	Day	Length								Qty	Rate	Total
10/4/2019			WGUO	08:15	:00 AM	10:15:00 AM	12:45:00 PM	05:15:00 PI	М	4	\$44.71	\$178.84
					ISCI C	ode: JBEBIPA	RTISANEVER	YCHILD				
10/1/2019			WGUO		:00 AM	11:15:00 AM	01:15:00 PM	05:28:00 PI	M	4	\$44.71	\$178.84
10/2/2019			WGUO				03:28:00 PM			4	\$44.71	\$178.84
10/3/2019			wguo				02:45:30 PM	05:45:30 Pi	М	4	\$44.71	\$178.84
10/5/2019	101		WGUO				04:28:00 PM			3	\$35.29	\$105.87
10/6/2019	Sun	1:00	wguo				05:45:00 PM			3	\$35,29	\$105.87
10/31/2019				Agend	cy Disco	unt						(\$139.07)
7												
		l l										
		1										
									Quantity		22 Total	\$927.10

\$927.10 Quantity 22 Total (\$139.07) AGENCY DISCOUNT Total Due \$788.03

Advertiser ID: 408

Amount Paid

10/31/2019	
Date	Page

DETACH AND RETURN WITH PAYMENT

408-00014-0000

O 10/31/2019

1

Arsement Media Group

For: John Bel Edwards

Purchase Order Number:

Est. Number: Co-Op:

Description: Oct 7-12

Salesperson: STATION LIST 1, JOE

Date	Day	Length							Qty	Rate	Total
				ISCI	Code: 64/JBEB	IPARTISAN/J	BESTIL				
10/7/2019	Mon	1:00	WGUO	10:28:00 AM	01:15:00 PM	02:45:30 PM	05:15:00 PM		4	\$44.71	\$178.84
10/8/2019	Tue	1:00	wguo	08:28:00 AM	12:28:00 PM	03:47:00 PM	06:28:00 PM		4	\$44.71	\$178.84
10/9/2019	Wed	1:00	wguo	07:15:30 AM	11:45:00 AM	03:15:00 PM	05:28:00 PM		4	\$44.71	\$178.84
10/10/2019	Thu	1:00	WGUO	06:28:00 AM	10:15:00 AM	01:28:00 PM	06:15:00 PM		4	\$44.71	\$178.84
10/11/2019	Fri	1:00	WGUO	08:28:00 AM	11:28:00 AM	03:28:00 PM	05:15:00 PM		4	\$44.71	\$178.84
10/12/2019	Sat	1:00	WGUO	11:17:30 AM	01:47:00 PM	03:30:00 PM			3	\$35.29	\$105.87
10/31/2019				Agency Disco	unt					(1	(\$150.01)
								Quantity		23 Total	\$1,000.07

 Quantity
 23
 Total
 \$1,000.07

 AGENCY DISCOUNT
 (\$150.01)

 Total Due
 \$850.06

Advertiser ID: 408

Amount Paid

408-00017-0000	11/30/2019	
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

408-00017-0000

O 11/30/2019

1

Arsement Media Group

For: John Bel Edwards
Purchase Order Number:

Est. Number: Co-Op:

Description: LA Governor runoff Salesperson: STATION LIST 1, JOE

ELECTRONIC INVOICE

								W. 1962-11 S.M. 1585, 195, 19			
Date	Day	Length							Qty	Rate	Total
					ISCI Code	: JBEService					
11/6/2019	Wed	1:00	WGUO	06:46:00 AM 05:16:00 PM		12:46:00 PM	03:15:00 PM	04:15:00 PM	7	\$44.71	\$312.97
11/7/2019	Thu	1:00	WGUO		07:46:30 AM	09:15:00 AM	12:45:00 PM	03:15:00 PM	7	\$44.71	\$312.97
11/8/2019	Fri	1:00	WGUO		08:15:00 AM	09:15:00 AM	11:45:00 AM	02:45:00 PM	7	\$44.71	\$312.97
11/9/2019	Sat	1:00	wguo		01:15:00 PM	02:45:00 PM			3	\$35.29	\$105.87
11/10/2019	1 1		WGUO			01:45:00 PM			3	\$35.29	\$105.87
11/30/2019	"	1.00	11000	Agency Disco		01.40.001 W				,	\$-172.60
								Quantity		27 Total	\$1150.65

 Quantity
 27 Total
 \$1150.65

 AGENCY DISCOUNT
 \$ -172.60

 Total Due
 \$978.05

Arsement Media Group

John Bel Edwards

Advertiser ID: 408

Amount Paid

408-00019-0000	11/30/2019	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

408-00019-0000

O 11/30/2019

Purchase Order Number: 103

For: John Bel Edwards

Est. Number: Co-Op:

Description: JBEService

Salesperson: STATION LIST 1, JOE

ELECTRONIC INVOICE

Date	Day	Length		Qty	Rate	Total
			ISCI Code: 103			
11/11/2019	Mon	1:00	WGUO 06:45:00 AM 07:46:30 AM 10:45:00 AM 12:45:00 PM 02:15:00 PM 03:45:00 PM 06:15:00 PM	7	\$44.71	\$312.97
11/12/2019	Tue	1:00	NGUO 06:45:00 AM 08:45:00 AM 10:45:00 AM 11:45:00 AM 02:45:00 PM 03:45:00 PM 06:15:00 PM	7	\$44.71	\$312.97
11/13/2019	Wed	1:00	NGUO 07:28:00 AM 09:15:00 AM 11:28:00 AM 12:45:00 PM 02:45:00 PM 03:45:00 PM 05:15:00 PM	7	\$44.71	\$312.97
11/14/2019	Thu	1:00	NGUO 06:15:30 AM 09:16:00 AM 10:45:00 AM 12:46:00 PM 01:45:00 PM 04:15:00 PM 06:45:00 PM	7	\$44.71	\$312.97
11/15/2019	Fri	1:00	NGUO 07:29:00 AM 09:16:00 AM 11:15:00 AM 01:16:00 PM 02:16:00 PN 03:15:00 PM 05:16:00 PM	7	\$44.71	\$312.97
11/16/2019	Sat	1:00	NGUO 02:15:00 PM 03:45:00 PM 04:15:00 PM	3	\$35.29	\$105.87
11/30/2019			Agency Discount			\$-250.61
					20 00 1	01780 50

\$1670.72 Quantity 38 Total -250.61 \$ AGENCY DISCOUNT \$1420.11 **Total Due**